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JIE {5z K4 OUT | I N [#BOX|H DJ| NET S
1 L HiE 35 38 73 4.0 69.0 BGE
2 MR FF 42 48 90 20.8 | 69.2
3 =5 B17 37 39 76 6.4 69.6 NP
4 S EE 37 37 74 4.0 70.0 NP
5 KiE £8 39 44 83 120 | 71.0
6 A A 37 39 76 4.8 71.2 NP
7 by A8 37 42 79 6.0 73.0
8 ER B 44 52 96 224 | 73.6
9 —<tRK —& 39 54 93 19.2 | 738 NP
10 A% BE 41 41 82 8.0 74.0
11 = —F 43 48 91 160 | 75.0
12 A EE 44 48 92 16.8 | 75.2
13 g B 39 46 85 9.6 75.4
14 By ESH 45 52 97 216 | 754
15 R HE 41 53 94 184 | 75.6 NP
16 Bil #EZ A 49 90 144 | 756 NP
17 £5 B 36 43 79 3.2 75.8
18 Rl 41 53 94 180 | 76.0
19 BEH =4 48 55 103 | 26.4 | 76.6
20 HER =2 38 49 87 104 | 76.6
21 fah ER 43 45 88 112 | 768
22 Bl X{E 47 50 97 200 | 770
23 i FRx 38 43 81 4.0 77.0
24 £E F 39 42 81 4.0 77.0
25 = XE 44 46 90 128 | 77.2
26 LA Ei 42 46 88 108 | 77.2
27 Riga FfE 45 49 94 168 | 77.2
28 R BE— 44 55 99 216 | 774
29 —i% PR 40 43 83 5.6 77.4
30 oE & 51 49 100 | 224 | 7716
31 AHF FiHf 44 52 96 184 | 776
32 A FEZ 43 53 96 176 | 784
33 & EKF 46 50 96 176 | 784
34 BFE {3X 49 52 101 | 224 | 786
35 NI ZEA 42 47 89 104 | 78.6 NP
36 HE &FIE 38 48 86 7.2 78.8
37 NI FIR 43 52 95 160 | 79.0
38 R 21T 51 57 108 | 288 | 79.2
39 Tk 1M 46 52 98 184 | 796
40 fHiE B 44 46 90 104 | 79.6




41 Ci == 43 53 96 16.0 | 80.0
42 BB A 45 55 100 | 200 | 80.0
43 —= #H 47 50 97 16.8 | 80.2
44 KiE F& 42 49 91 104 | 806
45 g £ 41 42 83 2.4 80.6
46 KiE B= 46 50 96 152 | 80.8
47 HE 47 53 100 | 184 | 816 NP
48 INE ZF 42 54 96 144 | 816
49 AR IEGf 41 48 89 7.2 81.8
50 | 2 44 45 89 7.2 81.8
51 A BEX 51 47 98 16.0 | 820
52 ME &2 50 52 102 | 200 | 820
53 A3 PMEER 43 56 99 168 | 822
54 Ry B 46 51 97 144 | 826
55 FMHE R 44 43 87 4.0 83.0
56 X XX 45 48 93 9.6 83.4
57 ¥ XA 45 46 91 7.2 83.8 NP2
58 W A 40 60 100 | 156 | 844
59 MHE HE 46 62 108 | 232 | 848
60 28 R 47 57 104 | 19.2 | 848
61 IR EER 53 49 102 | 168 | 85.2
62 Bt M= 45 55 100 | 136 | 86.4
63 RSF IE#L 50 54 104 | 168 | 87.2
64 & S8 55 61 116 | 27.2 | 888




